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AP Calculus

Part 1: No Calculator Allowed






Chapter 3 Review

Show all your work!

1.  If 
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The graph of f(x) is shown in the figure above. Which of the following could be the graph of f'(x)
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4.  Explain why each graph below is not differentiable at x = 0.
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7.  If 
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8.  Find the slope of the tangent to the curve 
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 at the point (3, 4).
9.  [image: image14.png]i)
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A car is traveling on a straight road. For 0 £ 7 < 24 seconds, the car’s velocity ¥(r), in meters per second, is
modeled by the piecewise-linear function defined by the graph above.

(@) Duting which interval is the speed increasing?

(b) For each of v/(4) and v/(20), find the value or explain why it does not exist. Indicate units of measure.

(©) Let a(t) be the car’s acceleration at time 1, in meters per second per second. For 0 < t < 24, write a
piecewise-defined function for a(r).

(d) Find the average rate of change of v over the interval 8 < 7 < 20.





Name _____________________________________



AP Calculus

Part 2: Graphing Calculator Required






Chapter 3 Review

Show all your work!

[image: image15.png]Consider the curve given by y

&
(@) Show that G = 52—

(b) Find all points (v, y) on the curve where the line tangent to the curve has slope

(¢) Show that there are no points (v, y) on the curve where the line tangent to the curve is horizontal.



10.  
[image: image16.png]A particle moves along the x-axis with velocity at time 1 > 0 given by v(r) = ~1+ !*.
(@) Find the acceleration of the particle at time 1 = 3.

(b) T the speed of the particle increasing at time

37 Give a reason for your answer.

(¢) Find all values of  at which the particle changes direction. Justify your answer.



11.  
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A metal wire of length § centimeters (cm) is heated at one end. The table above gives selected values of the
temperature T(x), in degrees Celsius (°C), of the wire x cm from the heated end. The function T is decreasing
and twice differentiable.

(a) Estimate (7). Show the work that leads to your answer. Indicate units of measure.
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